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Read the following instructions carefully before you begin to answer the questions.

INSTRUCTIONS TO CANDIDATES

1. This Booklet contains 150 questions to be answered in a separate OMR Answer Sheet using
Black Ballpoint Pen in the following two Parts :

Part—A : General English : 75 questions
Part—B : General Awareness & Aptitude : 75 questions

2. All questions are compulsory.

3. You will be supplied the Answer Sheet separately by the Invigilator. You must complete the
details of particulars asked for.

4. Answer must be shown by completely blackening the corresponding circle in the Answer Sheet
against the relevant question number by Black Ballpoint Pen. OMR Answer Sheet without
marking Series shall not be evaluated.

Example :
Suppose the following question is asked :
The Capital of Meghalaya is

(A) Guwahati
(B) Kohima

(C) Shillong

(D) Delhi

You will have four alternatives in the Answer Sheet for your response corresponding to each
question of the Question Booklet as below :

®® 0o

In the above illustration, if your chosen response is alternative (C), i.e., Shillong, then the same
should be marked on the Answer Sheet by blackening the relevant circle with a Black Ballpoint

Pen only as below :
ONON N0

The example §hown ahove is the only correct method of answering.

5. Answer the questions as quickly and as carefully as you can. Some questions may be difficult and
others easy. Do not spend too much time on any one question.

6. There will NOT be any negative marking for wrong answers.
7. The Answer Sheet must be handed over to the Invigilator before you leave the Examination Hall.

8. No Rough Work is to be done on the Answer Sheet. Space for Rough Work has been provided in
the Question Booklet.
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PART—A : GENERAL ENGLISH

( Marks :

150 )

Each question carries 2 marks

Directions (Q. Nos. 1-5) : Read the
following passage and answer the questions
by selecting the answer choice from the
alternatives given. Mark the correct answer
in your Answer Sheet.

I was seven-year-old. 1 had lived at the same
place for all of my life, but we were moving. We
were moving from the farm with all of its
animals, with its memories of searching for
chicken eggs, and with the black and white
cows that had to be milked each day. We were
going from the place of scrub pines, of
pastures, of irrigation ditches to an unknown,
unknowable place, far, far away. We had
worked hard to get ready. Finally, dad piled all
of us into the car. As we began to drive away, |
looked out of the rear window of the car. As
I looked back, I saw my dog, and my cats. [
could not see my horse. I asked my father
what would happen to these pets. All that dad
could tell me was that they had to remain
there, that they could not come with us. There
was no explanation—merely the declaration
that we must go. I was bitterly disappointed,
so disappointed that this memory is still
seared into me, forty-three years later. Why
could my father not change this? I could not
understand then, but I do now. But still don’t
understand why there was no explanation.

1. The narrator remembering an episode of
his childhood is now
(A) thirty-year-old
(B) forty-year-old
(C) sixty-year-old
(D) fifty-year-old
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2. His regret, at that time, was that

(A)
(B)
(€)
(D)

he would miss his books
he would miss his pets
he would miss his games

he would miss his friends

3. He asked his father as to

(A)
(B)
(©)
(D)

what would happen to his pets
what would happen to his friends
what would happen to his books

what would happen to his games

4. Leaving the farm, the child was very
disappointed because he could not
understand

(A)
(B)

(€)

(D)

5. The
(A)
(B)
(€)
(D)

why his father could not stop him

why his mother could not unpack
the luggage

why his father could not change
the situation

why his brother could not oppose
his father

verb form of ‘explanation’ is
explanatory

explainable

explicit

explain

[ P.T.O.



Directions (Q. Nos. 6-12) : For each of the 9. As he slipped on the bank of river, he

given underlined idioms, choose the best had a close shave.
alternative which expresses the closest
meaning of the idiom. Mark the correct (A) Very touching moment

answer in your Answer Sheet.

B) A na es
6. I am at a loss to know what to do. B) G

(C) Nice service
(A) At a business loss
(D) Bad service

(B) At a relation loss

10. Alban was at his wit’s end to find that

(C) To be unable to decide his sister has failed.
(D) None of the above (A} Perplexed
(B) Clear up

7. In our staff meeting, Mr. Lyngdoh broke

(C) Explained
the ice and suggested few great ideas.

(D) Enlighten
| (A) To do something with courage
| 11. He is leaving the country for good.
(B) To win a prize
(A) For a good cause
(C) To speak first after long silence
‘ (B) Permanently

(D) To win someone’s heart (C) For better prospects

(D) For the good of others
8. 1 want to win this match by hook or by

crook.

12. The case was held over due to great

(A) B tead opposition against it.
y permission

. (A) Stopped
(B) By any means
(B) Cancelled
(C) By noble means (C) Postponed
D) By request (D) Dropped
Y
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Directions (Q. Nos. 13-20) : In the following
questions, substitute each expression with
a single word from among the given
alternatives. Mark the correct answer in
your Answer Sheet.

13.

14,

15.

A book that contains information on
various subjects

(A) Dictionary
(B) Novel
(C) Thesaurus

(D) Encyclopedia

A vain boasting fellow -

(A) Loudmouth

(B) Liar
(C) Rascal
(D) Braggart

The science of plants
(A) Astronomy

(B) Zoology

(C) Botany

(D) Biology

16. A person who does not eat meat

(A) Herbivore e
(B) Non-vegetarian
(C) Vegetarian

(D) Carnivore
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17. Fear of confined places

18.

19.

20.

(A) Claustrophobia
(B) Packophobia
(C) Myopia

(D) Acrophobia

One who does not believe in the
existence of God

(A) Atheist
(B) Theism
(C) Theist

(D) Unbeliever

That which can be believed
(A) Creditable

(B) Credible

(C) Incredible

(D) Credibility

A system of government in which all the
voters of the country can vote to elect
their government

(A) Autocracy

(B) Demography

(C) Democracy

(D) Democratic

[ P.T.O.



Directions (Q. Nos. 21-28) : In each of the
following questions, choose a word that is
opposite in meaning to the given word
from among the given alternatives. Mark
the correct answer in your Answer Sheet.

21. Valuable
(A) Invaluable
(B) Inferior
(C) Treasured

(D) Worthless

22. Genuine
(A) Synthetic
(B) Unnatural
(C) Artificial

(D) Real

23. Superiority
(A) Inferiority
(B) Seniority
(C) Juniority

(D) Prosperity

24. Modern
(A) Updated a
(B) Recent
(C) Ancient

(D) New
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25.

Divided

(A) Separated
(B) Segregated
(C) Isolated

(D) United

26. Woeful

217.

28.

(A) Laughing
(B) Smiling
(C) Cheerful

(D) Depressed

Pacify

(A) Aggravate
(B) Steady
(C) Neglect

(D) Polite

Hollow

(A) Dishonest
(B) Stubborn
(C) Solid

(D) Empty



Directions (Q. Nos. 29-36) : In each of the
following questions, choose a word or
group of words that is most similar in
meaning to the given word or group of
words from among the given alternatives.
Mark the correct answer in your Answer
Sheet.

29. Cajole

(A) Like

(B) Warn

(C) Tempt

(D) Assure
30. Abandon

(A) Try

(B) Join

(C) Keep with

(D) Forsake
31. Busy

(A) Active

(B) Occupied 3

(C) Sincere

(D) Lazy
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32.

33.

34.

35.

36.

Stumbling block
(A) Advantage

(B) Frustration

(C) Argument
(D) Hurdle
Cease

(A) Begin

(B) Stop

(C) Create

(D) Start
Chaste

(A) Liberated

(B) Divine
(C) Defiled
(D) Pure
Assertion

(A) Discussion
(B) Rejection

(C) Continuation
(D) Declaration
Priority

(A) Preference
(B) Deference

(C) Inference

(D) Subservience

[ P.T.O.



Directions (Q. Nos. 37-43) : In the following
questions, some sentences have errors and
some do not. The underlined words are the
key words where you can identify whether
the sentences are erroneous or not. From
the given set of choices, choose the correct
alternative for the identified error. Where
there is no error, choose the specified
option (D). Mark the correct answer in your
Answer Sheet.

37. He suggested that we should be bound

38.

39.

by a code of conduct, isn’t it?
(A) is it?

(B) aren’t we?

(C) shouldn’t we?

(D) No error

In order to write poetry, one has to be
both sensitive and creative.

(A) over
(B) so
(C) almost

(D) No error

Bees produce sweet honey as its sting is
deadly.

(A) but i
(B) for
(C) "and

(D) No error
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40.

41.

42.

43l

I am tired as I am working since
7 o’clock in the morning.

(A) I was working
(B) I have been working
(C) I had been working

(D) No error

Sheela told her teacher to explain the
chapter once again.

(A) ordered her teacher
(B) said to her teacher
(C) asked her teacher

(D) No error

1 have wrote a letter to her.

(A) write
(B) written
(C) will write

(D) No error

She has been plucks flowers since
morning.

(A) pluck
(B) pick
(C) plucking

(D) No error



Directions (Q. Nos. 44-50) : In the following
questions, the sentences have blank spaces
followed by four alternative answers.
Choose the correct alternative from the
given choices. Mark the correct answer in
your Answer Sheet.

44. Professionals

45.

46. The dogs

as doctors and
lawyers are part of the programme.

(A) such
(B) like
(C) are

(D) and

The bus stand is directly the
police station.

(A) around
(B) in
(C) behind

(D) nearby

the field are chasing one
another playfully.

(A) in N
(B) upon

(C) on

(D) at
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47. In accordance

48.

49.

50.

the regulations,

one must apply for the scheme.

(A) to
(B) with
(C) from
(D) by

The house in

I was born has a

beautiful garden surrounding it.

(A) where
(B) when
(C) whom
(D) which

She is suffering

Who is responsible

(A) in
(B) with
(C) from
(D) by
(A) of
(B) for
(C) from
(D) with

fever.

this mistake?

[P.T.O.



Directions (Q. Nos. 51-58) : In each of the
following questions, a sentence is given in
Direct/Indirect speech. Out of the four
alternatives suggested, choose the one
which best expresses the same sentence in
Indirect/Direct speech. Mark the correct
answer in your Answer Sheet.

51.

52.

53.

The man exclaimed that his wallet was
stolen.

(A) “My wallet was stolen |” the man
said.

(B) “Somebody stole my wallet!”
exclaimed the man,

(C) The man exclaimed, “My wallet was
stolen !”

(D) The man cried, “My wallet was
stolen.”

Rima said to Priya, “Why are you

sketching on the wall?”

(A) Rima asked Priya why was she
sketching on the wall.

(B) Rima asked Priva why had she
been sketching on the wall.

(C) Rima asked Priya that why is she
sketching on the wall.

(D) Rima asked Priya why she was

sketching on the wall.

“Stand at ease”, the soldier said to his
men.

(A) The soldier told his men that they

should stand at ease.

(B) The soldier said“to his men that
they should stand at ease.
(C) The soldier urged his men to stand
. at ease.
(D) The soldier commanded his men to

stand at ease.
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54. Mr. Swer asked the lady if she could tell

him where the nearest post office is.

(A) “Where is the nearest post office?”
Mr. Swer asked the lady.

(B) Mr. Swer asked the lady, “Could
you tell me where the nearest post
office is?”

(C) Mr. Swer asked the lady, “Where is
the nearest post office?”

(D) Mr. Swer said to the lady, “Where

is the nearest post office?”

55. The Professor said that nobody could

56.

solve the problem.

(A) The Professor said, “Nobody can
solve the problem.”

(B) The Professor said, “Nobody could
solve the problem.”

(C) The Professor exclaimed, “Nobody
could solve the problem.”

(D) The Professor exclaimed, “Nobody

can solve the problem.”

Seeta said to me, “Can you give me your
pen?”

(A) Seeta asked me can I give her my
pen.

(B) Seeta asked me if I can give me
your pen.

(C) Seeta asked me if I could give her
my pen.

(D) Seeta asked me if I could give me

your pen.



§7. The father warned his son that he
should beware of the pickpocket.

(A) The father warned his son, “Beware
of the pickpocket !”

(B) The father warned his son, “Watch
that chap !”

(C) The father warned his son, “Be
careful about the pickpocket.”

(D) The father warned his son, “Don’t
fall into the trap.”

58. “What about going for a swim?” he said,
“It’s quite fine now.”

(A) He asked me about going for a
swim as it was quite fine then.

(B) He proposed going for a swim as it
was quite fine.

(C) He suggested going for a swim as it
was quite fine.

(D) He advised me to go for a swim as
it was quite fine.

Directions (Q. Nos. 59-65) : In each of the
following questions, there are jumbled up
sentence parts. Rearrange these parts,
which are labelled (i), (ii), (iii), (iv) and (v),
to produce the correct sentence. Choose
the correct sequence from the given set of
alternatives. Mark the correct answer in
your Answer Sheet.

59. (i) children / (ii) the / (iii) were / (iv) the
animals / (v) fascinated by

(A) (i), (@), (i), (v), (v)
B) (i), (i), (i), (v), ()
(C) (v, (v), (i), (i), ()
(D) (i), (i), (v), (i), ()
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60.

61.

62.

63.

64.

() plays an / (i) upbringing /
(iii) important / (iv) personal progress /
(v) role in

A) ), @), (), (), (iv)

(B) (i), (iv), (i), (iii), (v)

(©€) (), (), (i), (v), (i)

(D) (), (i), (i), (v), ()

() an / (ii) him popular / (i) made /
(iv) unexpected / (v) victory

A) @, (), (v), (i), (i)

(B) (), (i), (i), (i), (v)

(C) (i), (i), (), (v), (v)

(D) (@), (v), (i), (v), (i)

() the coastline / (ii) the rugged /
(iii) they / (iv) beauty of / (v) admired
A) (), @), &), (i), ()

(B) (i), (v), (i), (v), ()

(€ (), @), (v), (i), ()

D) (), (i), (i), (@), (v)

(i) free time / (i) with / (iii) little /
(iv) left her / (v) her job

A) @, (), (v), (i), (i)

(B) (iv), (@), (i), (i), (v)

(©€) ), (), (i), (i), (i)

(D) (), (), (i), (i), (v)

(i) the road / (ii) the rules / (iii) obey /
(iv) we must / (v) of

(A) (), (), (v), @), (iv)

(B) (), (i), (i), (v), (i)

(€ (iv), (i), (i), (@), (v)

(D) (i), (v), @), (), (i)

[ P.T.O.



65. (i) from God / (ii) a precious / (iii) gift
to / (iv) us / {v) life is

(A) (@), (i), (iv), (@), (v)
(B) ™), @), (i), (iii), (iv)

(€) (%), (i), (iv), (i), ()

(D) (v), (i), (iii), (iv), (i)

Directions (Q. Nos. 66-75) : In the following
cloze passage, there are blank spaces which
are numbered. Against each number,
choose the most appropriate choice in
meaning from the set of given alternatives.
Mark the correct answer in your Answer
Sheet.

The library, if used properly, is invaluable in
helping you develop discernment. It is rich
_66 information that goes far beyond the
_67 of any one textbook or course. _68 your
textbook author does not make a particular
69 clear and you feel the need _70 another
description in greater detail _71 in other
words, go to the library and _72 other books
on the subject. By calling _73 two or three
writers dealing with the _74 topic, you will
find some _75 of certain facts. In seeking
additional sources, you will have gained
immeasurably, for you will have seen what
several experts perceive as being particularly
important on a common subject.

66. (A) of (B) for
(C) in (D) with
67. (A) pages (B) limits

(C) confines (D) limitations
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68. (A)
(C)
69. (A)
(C)
70. (A)
(©)
71. (A)
(C)
72. (A)
(C)
73. (A)
(©)
74. (A)
(€)
75. (A)
(©)

If

When

information

explanation

for

to

or

though

verify

check

for

forth

actual

correct

description

explanation

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

While

Suppose

entry

point

of

about

but

however

identify

collect

up

upon

specific

same

clarification

evidence



76.

77‘

78.

PART—B : GENERAL AWARENESS & APTITUDE
( Marks : 150 )

Each question carries 2 marks

Which State merged with India in 19757
(A) Mizoram

(B) Goa

(C) Sikkim

(D) Arunachal Pradesh

The Fundamental Right which cannot
be suspended even during an
emergency is

(A) Right to Equality
(B) Right to Freedom of Expression
(C) Right to Movement

(D) Right to Life

Indian States have been constituted on
the basis of

(A) geographical continuity

(B) language
(C) administrative convenience
(D) economic condition

79. The forces of Alexander and Porus
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fought on the banks of river
(A) Ravi ;
(B) Jhelum

(C) Sutlej

(D) Indus

13

80. The Banaras Hindu University was
founded by

(A) C. R. Das
(B) Pt. J. L. Nehru
(C) Madan Mohan Malaviya

(D) Swami Vivekananda

81. Gunpowder was discovered by the
(A) Egyptians

(B) Indians

(C) Chinese

(D) Germans

82. Confrontation between USA and USSR
over the development of missiles in

almost led to a nuclear war in

1962.
(A) Poland

(B) North Korea
(C) East Germany

(D) Cuba

83. The largest contribution to the UN
budget comes from

(A) Japan
(B) Germany
(C) USA

(D) Britain

[ P.T.O.



84. OPEC was set up in 88. Sound travels fastest in

(A) 1962 (A) air
(B) 1970 (B) water
(C) 1973

(C) vacuum

(2 1900 (D) ifoti

85. 1 ? i
S0 e weitien by 89. India’s range of geostationary satellite is

(A) George Orwell

(A) IRS
(B) Boris Pasternak

(B) INSAT
(C) G. B. Shaw

(C) Rohini
(D) Bertrand Russell

(D) Bhaskara

86. In which Indian State is the Flamingo

Festival celebrated? 90. The metal that floats on water is
(A) Manipur (A) iron
(B) Assam (B) copper
(C) Andhra Pradesh (C) silver

(1) Reyasthan (D) potassium

87. The crops grown in the summer

91. Rome is the
monsoon season are called

(A) Rabi - (A) Eternal City
(B) Kharif (B) Forbidden City
(C) - annual (C) City of Palaces
(D) seasonal | (D) Cleanest City
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92. Moscow is situated on the bank of river 96. When days and nights are equal, the
rays of the sun directly fall on the

(A) Moskva
(A) Tropic of Cancer
(B) Spree
(B) South Pole
(C) Volga
(C) North Pole
(D) Tagus

(D) Equator

93. Name the largest island in the world.
97. Which of the following substances is

(A) New Guinea mainly used in hand sanitizer?
(B) Greenland (A) Fatty acid

(C) Madagascar (B) Petroleum jelly

(D) Great Britain (C) Alcohol

(D) Saline water
94. In the world, which of the following

occuples the smallest area? 98. Name the part of the eye where an

(A) Bermuda image of an object is formed.
(B) Peru (A) Retina
(C) Monaco (B) Cornea
(D) Vatican City (C) Lens
(D) Pupil

95. Copper mines are found in which of the

following places? 99. Keenan Stadium is in
(A) Khetri Y (A) Jamshedpur

(B) Karanpur (B) Cuttack

(C) Ramgiri (C) Kanpur

(D) Palamu ' (D) Faridabad
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100. Butterfly’ is a term used in the game of 104. The first to have trade relations with

India was
(A) high jump

(A) English
(B) squash

(B) Dutch
(C) boxing

(C) French

(D) swimming
(D) Portuguese

101. The number of holes in a golf course is
105. Goitre is caused by the malfunctioning

A) 8 of
B) 12 (A) liver
© 15 (B) brain
D) 18 (C) spleen

(D) thyroid
102. The name of Abhinav Bindra is

anspciated With. e spargiof 106. The oldest large-scale industry of India

i f
() difle shooting was in the field o

(B) cricket (A) iron and steel

B) jute
(C) football B)

(C) cotton and textile

(D) basketball
(D) sugar
103. Subroto Cup is associated with which of
the following games? 107. Name the Booker Prize winner of 2024.
(A) Hockey 5 (A) Anna Burns
(B) Football (B) Margaret Atwood
(C) Basketball (C) Douglas Stuart
(D) Cricket (D) Samantha Harvey
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108. Which country topped the Human 112. Where is the UNICEF Headquarters

Development Index, 2023-20247 located?
(A) Singapore (A) Geneva
(B) Australia (B) France

(C) Switzerland (C) New York

(D) Ireland (D) Detimstk

109. Name the longest rail route in the

113. Established in 1936, which is India’s
world.

first National Park?
(A) Canadian Pacific . <

(A) Indravati National Park
(B) Trans-Siberian

(B) Jim Corbett National Park
(C) Cairo-Cape Town

(C) Gir National Park
(D) Orient-Express

(D) Kaziranga National Park

110. Which district is a part of two Indian

States? 114. The longest insect in the world is

(A) Kodagu (A) grasshopper

(B) Panipath (B) deer fly

(C) Chitrakoot (C) giant stick insect

(D) Vadodara (D) caddisfly

111. Covishield, the first vaccine for ich he follows is th
COVID-19, is manufactured by which 135 Whic amc.tngst e Moy = Uk
largest glacier?

company?

(A) Biocon > (A) Zemu
(B) Serum Institute of India (B) Siachen
(C) Dr. Reddy’s Lab (C) Gangotri
(D) Pfizer | (D) Sasaini
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116. Tamil Nadu is famous for which dance

117.

118. To which musical

form?

(A) Kathak

(B) Bharatanatyam

(C) Kuchipudi

(D) None of the above

Which character of the Mahabharata is
also called ‘Dharmaraja’?

(A) Arjuna

(B) Nakula

(C) Yudhishthira

(D) Duryodhana

instrument is
Hariprasad Chaurasia associated?

(A) Sitar
(B) Flute

(C) Tabla

(D) Veena

/135-1 [LDA (Nov, 2024)]

18

119.

120.

121.

122,

The maximum number of Ministers in
the Union Government, including the
Prime Minister, is

(A) 10% of the members of the Lok
Sabha

(B) 15% of the members of the Lok
Sabha

(C) 20% of the members of the Lok
Sabha

(D) 12% of the members of the Lok

Sabha
In which year was the Bombay High
Court established?
(A) 1842
(B) 1862
(C) 1872

(D) 1901

Name the father of geometry.

{A) Kepler

(B) Herodotus
(C) Hippocrates

(D) Euclid

How many islands are there in the

Lakshadweep Islands?
(A) 29
B) 36
(C) 43

(D) 51



123. Name the State which occupies more 126. If a:b=3:4 and b:c=8: 9, then find

than 10 percent of India’s land area. the value of ga: b: ¢
(A) Uttar Pradesh (A) 6:8:9

B) 6:7:10
(B) Rajasthan (B)

(C) 7:8:9

(C) Madhya Pradesh

(D) 6:9:10
(D) Maharashtra

127. The smallest positive number which
leaves a remainder of 1 when it is

124. Name the first Pr ident of India.
e e et President of Indie divided by 3, 4, 5 or 7 is

(A) Pt. J. L. Nehru A) 85
(B) Sarvepalli Radhakrishnan (B) 106
(C) Rajendra Prasad (C) 141

D) 421
(D) Sardar Vallabhbhai Patel (B) 42

128. A and B can do a work in 12 days, B
125. The Pradhan Mantri Ujjwala Yojana is and Cin 15 days, Cand A in 20 days. If

related to A, B and C work together, they will
complete twice the work in

(A) skill imparting

(A) 25 days
(B) financial inclusion . (B) 20 days
(C) LPG connection (C) 27 days
(D) electricity connection (D) 15 days
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129. What is the value of (62)3 ?

130.

131.

(A) 238324
(B) 238328
(C) 239328

(D) 228328

An engineering student has to secure
50% marks to pass. He gets 163 marks
and fails by 37 marks. Find the
maximum marks.

(A) 450
(B) 420

(C) 400

(D) 600

A train is 150 m long and is running at
60 km /hr. If a man is going at 6 km/hr
in the same direction, how long will the
train take to pass the man?

(A) 12 seconds
(B) 10 seconds
(C) 8 seconds

(D) 11 seconds
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132.

133.

134.

If the weights of 5 students of a class
are 496 kg, 398 kg, 40-8 kg, 452 kg
and 24-6 kg respectively, then what is
their average weight?

(A) 48 kg
(B) 47 kg
(C) 43 kg

(D) 40 kg

M is the son of N. O is the father of N.
Pis the father of M. How is N related to
P?

(A) Wife

(B) Mother

(C) Father

(D) Husband

Vipul walks 20 metres towards North,
He then turns left and walks 40 metres.
He again turns left and walks
20 metres. Further, he moves 20 metres
after turning to the right. How far is
Vipul from his original position?

(A) 20 m

(B) 30m
(C) 60m

(D) 50 m



135. Find the next number in the series 3,9,
27, 81, ? .

(A) 121
(B) 162
(C) 243

(D) 154

Directions (Q. Nos. 136 and 137) : In each
of the following questions, one of the words
given in the options cannot be formed by
using the letters given in the question.
Find out that word. Mark the correct
answer in your Answer Sheet.

136. ENCOURAGE
(A) USAGE
(B) GREEN

(C) ANGER

(D) COURAGE

137. CONCENTRATE
(A) TREAT
(B) CONCERN r
(C) TRAIN

(D) CENTRE
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Directions (Q. Nos. 138-140) : In each of
the following questions, choose the correct
water image of the given combination.
Mark the correct answer in your Answer
Sheet.

138.

139,

140.

141,

142,

143.

MONDAY

(A) YAQUIOM (B) AVANOW

(C) YAQNOM (D) WOUDVX
bridge

(A) puq8e (B) puIq8e
(C) Prigge (D) PupBe
AIM3b

(A) VIN3Pp (B) VIN3P
(C) VIN3P (D) VIWEP

Yard’ is to ‘Inch’ as ‘Quart’ is to

(A) Gallon (B) Ounce

(C) Milk (D) Liquid

‘Odometer’ is to Mileage’ as ‘Compass’
is to

(A) Speed (B) Hiking

(C) Needle (D) Direction

Tuberculosis : Lungs :: Typhoid : ? .

(A) Intestine (B) Liver

(C) Lungs (D) Brain

[ P.T.O.



Directions (Q. Nos. 144 and 145) : In each
of the following questions, statements are
given followed by some conclusions.
Choose the correct alternative based on
the given statements and conclusions.
Mark the correct answer in your Answer
Sheet.

144. Statements :

Some towers are windows.

All windows are houses.

Some houses are temples.
Conclusions :
I. Some towers are temples.
II. Some houses are towers.
III. Some temples are windows.
(A) Only I follows
(B)

(€

Only 1I follows
Only III follows
(D) T and II follow

145. Statements :

All philosophers are fools.
All fools are illiterate.

Conclusions :

I. All philosophers are illiterate.

II. Al illiterates are philosophers.
III. All illiterates are fools.
IV. Some  illiterates  would be
philosophers. ~
(A) Only IV follows
(B) I and IV follow
(C) Only II follows
(D) III and IV follow
/135-I [LDA (Nov, 2024)]
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Directions (Q. Nos. 146-149) : Consider the
following information and answer the
questions based on it. Mark the correct
answer in your Answer Sheet.

All the six members A, B, C, D, E and F of a
family are travelling together. Bis the son of C
but C is not the mother of B. A and C are a
married couple. E is the brother of C. D is the
daughter of A. F is the brother of B.

146. How many male members are there in

the family?

A) 1 (B) 2

€ 3 (D) 4
147. Who is the mother of B?

(A) D (B) F

€ E D) A
148. Who is the wife of E?

@A) A

(B) F

(€ B

(D) Cannot be determined

149. Which of the following is a pair of

females?
(A) A E (B) B, D
(C) D, F (D) A, D

150. Complete the series DAZ, FDX, HGV,

?.
(A) FGT (B) JJT
(C) TJT (D) GJT



